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Q-1) Find the area between the curves y = 2% + 4z — 3 and y = 3 — 2 on the interval [—4, 4].
Grading: 10 points

Solution: Grader: gunes.akbas@bilkent.edu.tr

Set f(z) = 2> + 4z — 3 and g(z) = 3 — z°.

The intersection points are found by solving f(z) = g(x). This gives 22 + 4z — 6 = 0 and hence
r=—-3andz = 1.

The required area is then found as follows.

-3 1
Volume:/ [f(x)—g(x])dm—i—/ lg(z) — dx+/ )] dx
—4 -3
9 -3 4
:<§x3—|—2x2—6x )—I—(Gx—Qa:——x )+<—x + 222 — 6z )
—4 1
14 64
=—+—+54
3 + 3 *

= 80.



